# **Tabulation of Bids**

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Line No / Item ID Item Description		(1) LUCAS CONSTRUCTION GROUP, INC		(2) LUCAS BROTHERS, INC		(3) UNION PAVING & CONSTR CO INC	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0001 151006M	1.000	5,000.00000	5,000.00	4,100.00000	4,100.00	6,800.00000	6,800.00
PERFORMANCE BOND AND PAYMENT BOND	D DOLL						
0004 153009P	(1)	1,500.00000	1,500.00	1,000.00000	1,000.00	5,000.00000	5,000.00
BAR CHART PROGRESS SCHEDULE AND UPDATES	LS						
0005 153012P	300.000	1.00000	300.00	1.00000	300.00	1.00000	300.00
TRAINEES	HOUR						
0006 154003P	(1)	73,000.00000	73,000.00	125,000.00000	125,000.00	83,264.10000	83,264.10
MOBILIZATION	LS						
0009 157004M	1.000	5,000.00000	5,000.00	19,500.00000	19,500.00	18,000.00000	18,000.00
CONSTRUCTION LAYOUT	DOLL						



Tabulation of Bids

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

	lo / Item ID Description		(1) LUCAS CONSTRUCTION (2) LUCAS BR GROUP, INC				ING & CONSTR	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	SECTION: 0001 ROADWAY			Cat Al	t Set:	Cat A	It Member:	
0010	157006M	3.000	500.00000	1,500.00	950.00000	2,850.00	400.00000	1,200.00
MONUM	ENT	U						
0017	159003M	25.000	100.00000	2,500.00	1.00000	25.00	100.00000	2,500.00
BREAKA	WAY BARRICADE	U						
0018	159006M	35.000	60.00000	2,100.00	1.00000	35.00	70.00000	2,450.00
DRUM		U						
0019	159012M	538.000	10.00000	5,380.00	11.00000	5,918.00	14.00000	7,532.00
CONSTR	RUCTION SIGNS	SF						
0020	159027M	2.000	500.00000	1,000.00	1.00000	2.00	500.00000	1,000.00
FLASHIN	NG ARROW BOARD, 4	1' X 8' U						



Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Line No			(1) LUCAS CONSTRUCTION (2) GROUP, INC		(2) LUCAS BR	(2) LUCAS BROTHERS, INC		(3) UNION PAVING & CONSTR CO INC	
Alt Set /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0001 ROADWAY		ROADWAY		Cat Al	t Set:	Cat A	It Member:		
0021	159029M	2.000	1,500.00000	3,000.00	4,500.00000	9,000.00	4,000.00000	8,000.00	
PORTABLE SIGN W/RE COMMUNI	-	AGE U							
0022	159108M	2.000	2,500.00000	5,000.00	8,900.00000	17,800.00	500.00000	1,000.00	
	CONTROL TRUCK V CRASH CUSHION	-							
0023	159138M	2.000	50.00000	100.00	150.00000	300.00	450.00000	900.00	
HMA PATO	CH	Т							
0024	160004M	1.000	400.00000	400.00	400.00000	400.00	400.00000	400.00	
FUEL PRIC	CE ADJUSTMENT	DOLL							
0025	161003P	(1)	2,500.00000	2,500.00	15,500.00000	15,500.00	2,250.00000	2,250.00	
FINAL CLE	ANUP	LS							

# **Tabulation of Bids**

Page:

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

	Line No / Item ID Item Description			CONSTRUCTION (2) LUCAS BR		OTHERS, INC	\ /	(3) UNION PAVING & CONSTR CO INC	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0001 ROADWAY				Cat Al	t Set:	Cat A	It Member:		
0026	201003P	(1)	7,500.00000	7,500.00	21,800.00000	21,800.00	20,000.00000	20,000.00	
CLEARII	NG SITE	LS							
0027	202006M	7.000	750.00000	5,250.00	210.00000	1,470.00	200.00000	1,400.00	
EXCAVA	ATION, TEST PIT	CY							
0028	202009P	1,584.000	20.00000	31,680.00	34.00000	53,856.00	34.00000	53,856.00	
EXCAVA	ATION, UNCLASSIFIE	D CY							
0029	202021P	2,184.000	6.00000	13,104.00	16.00000	34,944.00	13.00000	28,392.00	
REMOV	AL OF PAVEMENT	SY							
0030	302045P	2,700.000	10.00000	27,000.00	6.75000	18,225.00	16.00000	43,200.00	
_	GRADED AGGREGA <sup>*</sup> OURSE, 10" THICK	TE SY							

5

Page:



# Tabulation of Bids

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

	Line No / Item ID Item Description			LUCAS CONSTRUCTION GROUP, INC		(2) LUCAS BROTHERS, INC		(3) UNION PAVING & CONSTR CO INC	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0001 ROADWAY		ROADWAY	Cat Alt Set:		Cat Alt Member:				
0031	401009P	2,068.000	6.00000	12,408.00	5.35000	11,063.80	7.50000	15,510.00	
HMA MII	LLING, 3" OR LESS	SY							
0032	401030M	215.000	1.00000	215.00	6.50000	1,397.50	6.00000	1,290.00	
TACK C	OAT	GAL							
0033	401036M	590.000	0.01000	5.90	0.01000	5.90	0.01000	5.90	
PRIME (	COAT	GAL							
0034	401060M	539.000	100.00000	53,900.00	114.75000	61,850.25	135.00000	72,765.00	
_	X ASPHALT 12.5 M 76 DE COURSE	Т							
0035	401096M	891.000	110.00000	98,010.00	94.50000	84,199.50	92.00000	81,972.00	
HOT MIX	X ASPHALT 19 M 64 B E	ASE T							

# **Tabulation of Bids**

Page:

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

	Line No / Item ID Item Description			CAS CONSTRUCTION (2) I GROUP, INC		(2) LUCAS BROTHERS, INC		(3) UNION PAVING & CONSTR CO INC	
Alt Set /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION	: 0001	ROADWAY	Cat Alt Set:		t Set:	Set: Cat Alt		t Member:	
0036	601122P	434.000	52.00000	22,568.00	42.00000	18,228.00	50.00000	21,700.00	
15" REINF	ORCED CONCRETE	LF LF							
0037	601124P	166.000	55.00000	9,130.00	46.00000	7,636.00	70.00000	11,620.00	
18" REINF	ORCED CONCRETE	LF LF							
0038	601194P	234.000	60.00000	14,040.00	48.00000	11,232.00	55.00000	12,870.00	
15" REINFO	ORCED CONCRETE SS V	E LF							
0039	601249P	12.000	35.00000	420.00	21.50000	258.00	85.00000	1,020.00	
6" HIGH DI PIPE	ENSITY POLYETHY	LENE LF							
0040	601679M	80.000	95.00000	7,600.00	56.25000	4,500.00	90.00000	7,200.00	
8" DUCTIL	E IRON PIPE	LF							



**Tabulation of Bids** 

Counties: UNION

Letting Date: February 06, 2014 District(s): N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Contract ID: 13155

Line No / Item ID Item Description		(1) LUCAS CO GROU		(2) LUCAS BR	OTHERS, INC		ING & CONSTR
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY			Cat Al	t Set:	Cat A	It Member:	
0041 602099M	2.000	300.00000	600.00	300.00000	600.00	225.00000	450.00
RESET EXISTING CASTING	U						
0042 602220M	144.000	250.00000	36,000.00	225.00000	32,400.00	220.00000	31,680.00
TRENCH DRAIN	LF						
0043 602290M	13.000	13,000.00000	169,000.00	7,450.00000	96,850.00	8,000.00000	104,000.00
INLET, NON-STANDARD OF	FSET U						
0044 606012P	63.000	50.00000	3,150.00	54.00000	3,402.00	58.00000	3,654.00
CONCRETE SIDEWALK, 4"	THICK SY						
0045 606039P	525.000	52.00000	27,300.00	52.00000	27,300.00	50.00000	26,250.00
HOT MIX ASPHALT DRIVEV THICK	VAY, 6" SY						

# **Tabulation of Bids**

of Bids Page:

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

	lo / Item ID Description		(1) LUCAS COI GROUI		(2) LUCAS BR	OTHERS, INC		ING & CONSTR
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>DN</b> : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0046	606057P	27.000	85.00000	2,295.00	63.00000	1,701.00	72.00000	1,944.00
	ETE DRIVEWAY, RCED, 6" THICK	SY						
0047	606084P	4.000	400.00000	1,600.00	120.00000	480.00	230.00000	920.00
DETECT	ABLE WARNING SUF	RFACE SY						
0048	607018P	2,024.000	25.00000	50,600.00	22.00000	44,528.00	30.00000	60,720.00
9" X 16" CURB	CONCRETE VERTICA	AL LF						
0049	610003M	715.000	1.40000	1,001.00	1.35000	965.25	3.25000	2,323.75
TRAFFIC	STRIPES, 4"	LF						
0050	610007M	475.000	2.75000	1,306.25	2.85000	1,353.75	4.30000	2,042.50
TRAFFIC	STRIPES, 8"	LF						



# **Tabulation of Bids**

Page:

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

	o / Item ID escription		(1) LUCAS CO GROU		(2) LUCAS BR	OTHERS, INC	\ /	ING & CONSTR
Alt Set	t / Alt Member Q	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY				Cat Al	t Set:	Cat A	It Member:	
0051	610011M	1,025.000	2.25000	2,306.25	2.00000	2,050.00	4.30000	4,407.50
TRAFFIC	MARKINGS, LINES	LF						
0052	610012M	80.000	30.00000	2,400.00	55.00000	4,400.00	32.00000	2,560.00
RPM, MC LENS	ONO-DIRECTIONAL, WI	HITE U						
0053	610024M	40.000	15.00000	600.00	5.00000	200.00	20.00000	800.00
REMOVA	AL OF RPM	U						
0054	610036M	2,000.000	0.80000	1,600.00	0.80000	1,600.00	0.85000	1,700.00
REMOVA	AL OF TRAFFIC STRIPE	S LF						
0055	610039M	220.000	2.75000	605.00	2.25000	495.00	1.60000	352.00
REMOVA	AL OF TRAFFIC MARKI	NGS SF						



Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Line No / Item ID Item Description		(1) LUCAS COI GROUI		(2) LUCAS BROTHERS, INC		(3) UNION PAVING & CONSTR CO INC	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001		Cat Alt	t Set:	Cat A	It Member:		
0056 612003P	20.000	40.00000	800.00	39.60000	792.00	42.00000	840.00
REGULATORY AND WARNI SIGN	ING SF						
0057 612004P	(1)	20,000.00000	20,000.00	8,200.00000	8,200.00	13,500.00000	13,500.00
PEDESTRIAN CROSSING S WITH WARNING BEACON	SIGN LS						
Section Totals:			\$732,274.40		\$759,712.95		\$771,540.75



Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Line No / Item ID Item Description			(1) LUCAS CONSTRUCTION GROUP, INC		(2) LUCAS BROTHERS, INC		(3) UNION PAVING & CONSTR CO INC	
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002 CONSTRUC			ON ENGINEERING	G Cat Alt	Set:	Cat A	It Member:	
0007	155006M	1.000	20,000.00000	20,000.00	18,500.00000	18,500.00	10,000.00000	10,000.00
FIELD OF	FFICE TYPE B SET U	JP U						
8000	155024M	10.000	2,000.00000	20,000.00	800.0000	8,000.00	2,000.00000	20,000.00
FIELD OF	FFICE TYPE B NANCE	MO						
Section	on Totals:			\$40,000.00		\$26,500.00		\$30,000.00



Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

	Line No / Item ID Item Description		(1) LUCAS CONSTRUCTION GROUP, INC		(2) LUCAS BROTHERS, INC		(3) UNION PAVING & CONSTR CO INC	
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0003	NON-PARTICII	PATING (ROAD)	NAY) Cat Al	t Set:	Cat A	It Member:	
0002	152004P	1.000	2,500.00000	2,500.00	2,500.00000	2,500.00	2,000.00000	2,000.00
_	S AND CONTRACTOR TIVE LIABILITY NCE	R'S DOLL						
0003	152015P	1.000	500.00000	500.00	4,000.00000	4,000.00	3,000.00000	3,000.00
POLLUTI	ION LIABILITY INSUR	ANCE DOLL						
Section	on Totals:			\$3,000.00		\$6,500.00		\$5,000.00



# Tabulation of Bids

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Line No / Item ID Item Description		(1) LUCAS CONSTRUCTION GROUP, INC		(2) LUCAS BROTHERS, INC		(3) UNION PAVING & CONSTR CO INC		
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>DN</b> : 0004	EROSION CON	NTROL	Cat Al	t Set:	Cat A	It Member:	
0011	158009M	150.000	5.00000	750.00	5.00000	750.00	5.00000	750.00
HEAVY I	OUTY SILT FENCE,	LF						
0012	158030M	16.000	150.00000	2,400.00	100.00000	1,600.00	140.00000	2,240.00
INLET FI	LTER TYPE 2, 2' X 4'	U						
0013	158060M	45.000	1.00000	45.00	60.00000	2,700.00	10.00000	450.00
CONSTR	RUCTION DRIVEWAY	Т						
0014	158063P	(1)	1,500.00000	1,500.00	475.00000	475.00	3,000.00000	3,000.00
CONCRE	ETE WASHOUT SYSTI	EM LS						
0015	158072M	2.000	1.00000	2.00	250.00000	500.00	1,100.00000	2,200.00
OIL ONL TYPE 1	Y EMERGENCY SPILI	_KIT, U						

Tabulation of Bids

Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Contract ID: 13155

Line No / Item ID Item Description		(1) LUCAS CONSTRUCTION GROUP, INC		(2) LUCAS BROTHERS, INC		(3) UNION PAVING & CONSTR CO INC		
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>ON</b> : 0004	EROSION COI	NTROL	Cat Al	t Set:	et: Cat Alt Member:		
0016	158084M	2.000	1.00000	2.00	125.00000	250.00	100.00000	200.00
EROSIO REMOVA	N CONTROL SEDIN AL	MENT CY						
0063	806018P	90.000	1.00000	90.00	1.00000	90.00	1.00000	90.00
FERTILII F	ZING AND SEEDING	S, TYPE SY						
Secti	on Totals:			\$4,789.00		\$6,365.00		\$8,930.00



# **Tabulation of Bids**

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

	lo / Item ID Description		(1) LUCAS CO GROU		(2) LUCAS BR	OTHERS, INC		ING & CONSTR
Alt Se	t / Alt Member Qu	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>DN</b> : 0005	GENERAL LAN	NDSCAPE Cat Alt S		Set: Cat Al		It Member:	
0058	802024M	2.000	750.00000	1,500.00	840.00000	1,680.00	750.00000	1,500.00
TREE RE	EMOVAL, OVER 12" TO ER	18" U						
0059	802027M	5.000	1,000.00000	5,000.00	1,500.00000	7,500.00	1,500.00000	7,500.00
TREE RE	EMOVAL, OVER 18" TO ER	24" U						
0060	804006P	981.000	5.00000	4,905.00	4.75000	4,659.75	2.25000	2,207.25
TOPSOII	LING, 4" THICK	SY						
0061	804015P	109.000	35.00000	3,815.00	32.00000	3,488.00	40.00000	4,360.00
BORRO\	W TOPSOIL	CY						
0062	806003P	981.000	1.00000	981.00	1.00000	981.00	1.00000	981.00
FERTILIZ A	ZING AND SEEDING, TY	PE SY						

**Tabulation of Bids** 

**Page:** 16

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Line No / Item ID Item Description		(1) LUCAS CONSTRUCTION GROUP, INC		(2) LUCAS BROTHERS, INC		(3) UNION PAVING & CONSTR CO INC		
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0005 GENERAL LAI		NDSCAPE Cat Alt Set:		Cat Alt Member:				
0064 STRAW M	809003M IULCHING	981.000 SY	1.00000	981.00	1.00000	981.00	1.00000	981.00
Sectio	n Totals:		\$17,182.00			\$19,289.75		\$17,529.25
Contract Totals			\$797,245.40		\$818,367.70		\$833,000.00	
Cost Plus Time Totals			\$797,245.40		\$818,367.70		833,000.00	

<sup>()</sup> indicates item is bid as Lump Sum



Tabulation of Bids

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Line No / Item ID Item Description		(4) MONTANA CONSTRUCTION CORP INC.		(5) RITACCO CONSTRUCTION INC		(6) INTERCOUNTY PAVING ASSOC LLC		
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0001	151006M	1.000	8,592.00000	8,592.00	7,000.00000	7,000.00	6,040.50000	6,040.50
PERFOR PAYMEN	MANCE BOND AND IT BOND	DOLL						
0004	153009P	(1)	2,509.00000	2,509.00	5,000.00000	5,000.00	1,000.00000	1,000.00
	ART PROGRESS ILE AND UPDATES	LS						
0005	153012P	300.000	65.00000	19,500.00	0.01000	3.00	76.00000	22,800.00
TRAINEE	S	HOUR						
0006	154003P	(1)	200,000.00000	200,000.00	96,000.00000	96,000.00	81,000.00000	81,000.00
MOBILIZ	ATION	LS						
0009	157004M	1.000	4,014.00000	4,014.00	10,000.00000	10,000.00	10,000.00000	10,000.00
CONSTR	UCTION LAYOUT	DOLL						



## **Tabulation of Bids**

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Line No / Item ID Item Description		(4) MONTANA CONSTRUCTION CORP INC.		(5) RITACCO CONSTRUCTION INC		(6) INTERCOUNTY PAVING ASSOC LLC		
Alt Set / A	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	ROADWAY		Cat Al	t Set: Cat A		Alt Member:	
0010 1	157006M	3.000	401.00000	1,203.00	500.00000	1,500.00	1,650.00000	4,950.00
MONUMEN	Т	U						
0017 1	159003M	25.000	90.50000	2,262.50	100.00000	2,500.00	1.00000	25.00
BREAKAWA	AY BARRICADE	U						
0018 1	159006M	35.000	58.00000	2,030.00	50.00000	1,750.00	200.00000	7,000.00
DRUM		U						
0019 1	159012M	538.000	15.00000	8,070.00	15.00000	8,070.00	12.50000	6,725.00
CONSTRUC	CTION SIGNS	SF						
0020 1	159027M	2.000	702.00000	1,404.00	500.00000	1,000.00	1.00000	2.00
FLASHING	ARROW BOARD,	4' X 8' U						



## **Tabulation of Bids**

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Alt Set / Alt Member	
Alt Set / Alt Member Quantity and Units Unit Price Ext Amount Unit Price Ext Amount Unit Price Ext Amount	Amount
SECTION: 0001 ROADWAY Cat Alt Set: Cat Alt Member:	
0021 159029M 2.000 5,319.00000 10,638.00 500.00000 1,000.00 500.00000	1,000.00
PORTABLE VARIABLE MESSAGE U SIGN W/REMOTE COMMUNICATION	
0022 159108M 2.000 2,810.00000 5,620.00 500.00000 1,000.00 4,500.00000	9,000.00
TRAFFIC CONTROL TRUCK WITH U MOUNTED CRASH CUSHION	
0023 159138M 2.000 100.00000 200.00 150.00000 300.00 100.00000	200.00
HMA PATCH T	
0024 160004M 1.000 400.00000 400.000 400.00000 400.0000 400.00000	400.00
FUEL PRICE ADJUSTMENT DOLL	
0025 161003P (1) 4,391.00000 4,391.00 3,000.00000 3,000.00000 5,000.00000	5,000.00
FINAL CLEANUP LS	



## **Tabulation of Bids**

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Alt Set / Alt Member Quantity and Units Unit Price Ext Amount Unit Price Ext Amount			
At Set At Mount	Unit Price	Ext Amount	
SECTION: 0001 ROADWAY Cat Alt Set: Cat	Alt Member:	It Member:	
0026 201003P (1) 20,000.00000 20,000.00 20,000.00000 20,000.0	10,000.00000	10,000.00	
CLEARING SITE LS			
0027 202006M 7.000 165.00000 1,155.00 10.00000 70.0	1,300.0000	9,100.00	
EXCAVATION, TEST PIT CY			
0028 202009P 1,584.000 30.50000 48,312.00 45.00000 71,280.0	34.65000	54,885.60	
EXCAVATION, UNCLASSIFIED CY			
0029 202021P 2,184.000 11.50000 25,116.00 30.00000 65,520.0	21.00000	45,864.00	
REMOVAL OF PAVEMENT SY			
0030 302045P 2,700.000 15.50000 41,850.00 25.00000 67,500.0	15.50000	41,850.00	
DENSE-GRADED AGGREGATE SY BASE COURSE, 10" THICK			



# **Tabulation of Bids**

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Line No / Item ID Item Description		(4) MONTANA CONSTRUCTION CORP INC.		(5) RITACCO CONSTRUCTION INC		(6) INTERCOUNTY PAVING ASSOC LLC		
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	<b>N:</b> 0001	ROADWAY		Cat Al	t Set: Cat Al		It Member:	
0031	401009P	2,068.000	6.00000	12,408.00	10.00000	20,680.00	8.75000	18,095.00
HMA MILI	LING, 3" OR LESS	SY						
0032	401030M	215.000	5.00000	1,075.00	5.00000	1,075.00	2.80000	602.00
TACK CO	AT	GAL						
0033	401036M	590.000	0.01000	5.90	0.01000	5.90	0.01000	5.90
PRIME CO	TAC	GAL						
0034	401060M	539.000	95.50000	51,474.50	125.00000	67,375.00	100.00000	53,900.00
_	ASPHALT 12.5 M 70 E COURSE	6 T						
0035	401096M	891.000	95.50000	85,090.50	85.00000	75,735.00	103.00000	91,773.00
HOT MIX COURSE	ASPHALT 19 M 64	BASE T						



# **Tabulation of Bids**

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Line No / Item ID Item Description		(4) MON CONSTRUCTION		(5) RITACCO CO			UNTY PAVING OC LLC
Alt Set / Alt Member Quant	ity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 R	OADWAY		Cat Al	t Set:	Cat A	It Member:	
0036 601122P	434.000	35.00000	15,190.00	60.00000	26,040.00	70.00000	30,380.00
15" REINFORCED CONCRETE PIPE	LF						
0037 601124P	166.000	42.00000	6,972.00	65.00000	10,790.00	134.00000	22,244.00
18" REINFORCED CONCRETE PIPE	LF						
0038 601194P	234.000	44.50000	10,413.00	70.00000	16,380.00	88.00000	20,592.00
15" REINFORCED CONCRETE PIPE, CLASS V	LF						
0039 601249P	12.000	12.00000	144.00	25.00000	300.00	56.00000	672.00
6" HIGH DENSITY POLYETHYLENE PIPE	LF						
0040 601679M	80.000	57.50000	4,600.00	130.00000	10,400.00	274.00000	21,920.00
8" DUCTILE IRON PIPE	LF						



# **Tabulation of Bids**

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

	lo / Item ID Description		(4) MON CONSTRUCTIO		(5) RITACCO CO			UNTY PAVING OC LLC
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>ON</b> : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0041	602099M	2.000	569.00000	1,138.00	500.00000	1,000.00	465.00000	930.00
RESET E	EXISTING CASTING	U						
0042	602220M	144.000	213.00000	30,672.00	440.00000	63,360.00	255.00000	36,720.00
TRENCH	I DRAIN	LF						
0043	602290M	13.000	7,003.00000	91,039.00	9,000.00000	117,000.00	10,000.00000	130,000.00
INLET, N	ION-STANDARD OFF	SET U						
0044	606012P	63.000	78.50000	4,945.50	50.00000	3,150.00	61.00000	3,843.00
CONCR	ETE SIDEWALK, 4" T	HICK SY						
0045	606039P	525.000	33.50000	17,587.50	100.00000	52,500.00	83.50000	43,837.50
HOT MIX	( ASPHALT DRIVEW)	AY, 6" SY						



## **Tabulation of Bids**

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

	o / Item ID escription		(4) MON CONSTRUCTIO		(5) RITACCO CO			UNTY PAVING OC LLC
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0046	606057P	27.000	122.00000	3,294.00	65.00000	1,755.00	74.00000	1,998.00
	ETE DRIVEWAY, RCED, 6" THICK	SY						
0047	606084P	4.000	114.00000	456.00	200.00000	800.00	237.00000	948.00
DETECT	ABLE WARNING SUF	RFACE SY						
0048	607018P	2,024.000	22.00000	44,528.00	27.00000	54,648.00	30.85000	62,440.40
9" X 16" ( CURB	CONCRETE VERTICA	AL LF						
0049	610003M	715.000	0.60000	429.00	1.25000	893.75	1.65000	1,179.75
TRAFFIC	STRIPES, 4"	LF						
0050	610007M	475.000	1.10000	522.50	2.50000	1,187.50	3.15000	1,496.25
TRAFFIC	STRIPES, 8"	LF						



# **Tabulation of Bids**

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

	Line No / Item ID Item Description		(4) MONTANA CONSTRUCTION CORP INC.		(5) RITACCO CONSTRUCTION INC		(6) INTERCOUNTY PAVING ASSOC LLC	
Alt Set	t / Alt Member (	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	ROADWAY	Cat Alt Set:			Cat Alt Member:		
0051	610011M	1,025.000	1.00000	1,025.00	1.75000	1,793.75	2.00000	2,050.00
TRAFFIC	MARKINGS, LINES	LF						
0052	610012M	80.000	55.00000	4,400.00	50.00000	4,000.00	38.65000	3,092.00
RPM, MC LENS	ONO-DIRECTIONAL, W	/HITE U						
0053	610024M	40.000	10.00000	400.00	24.00000	960.00	5.65000	226.00
REMOVA	AL OF RPM	U						
0054	610036M	2,000.000	0.60000	1,200.00	0.70000	1,400.00	1.40000	2,800.00
REMOVA	AL OF TRAFFIC STRIP	ES LF						
0055	610039M	220.000	6.00000	1,320.00	2.00000	440.00	3.35000	737.00
REMOVA	AL OF TRAFFIC MARK	INGS SF						
0055	610039M	220.000	6.00000	1,320.00	2.00000	440.00	3.35000	737.00



Tabulation of Bids

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

	Line No / Item ID Item Description		(4) MONTANA CONSTRUCTION CORP INC.		(5) RITACCO CONSTRUCTION INC		(6) INTERCOUNTY PAVING ASSOC LLC	
Alt Set / Alt Me	mber Quar	ntity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 000	)1 F	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0056 612003	SP.	20.000	50.00000	1,000.00	35.00000	700.00	44.00000	880.00
REGULATORY AN	ND WARNING	SF						
0057 612004	.P	(1)	9,534.00000	9,534.00	13,000.00000	13,000.00	19,000.00000	19,000.00
PEDESTRIAN CR WITH WARNING		LS						
Section Totals	:			\$808,129.90		\$910,261.90		\$889,203.90



**Tabulation of Bids** 

Contract ID: 13155 Counties: UNION

Letting Date: February 06, 2014 District(s): N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Line No / Item ID Item Description		(4) MONTANA CONSTRUCTION CORP INC.		(5) RITACCO CONSTRUCTION INC		(6) INTERCOUNTY PAVING ASSOC LLC		
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0002	CONSTRUCTI	ON ENGINEERING	Cat Alt	t Set:	Set: Cat Al		It Member:	
0007 155006M	1.000	15,000.00000	15,000.00	10,658.10000	10,658.10	17,000.00000	17,000.00	
FIELD OFFICE TYPE B SET U	JP U							
0008 155024M	10.000	1,200.00000	12,000.00	1,000.00000	10,000.00	3,400.00000	34,000.00	
FIELD OFFICE TYPE B MAINTENANCE	MO							
Section Totals:			\$27,000.00		\$20,658.10		\$51,000.00	



Tabulation of Bids

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Cont	ONTRACT DESCRIPTION: ROUTE 22, EB, AUXILIARY LANE BETWEEN U-TURNS HAND G								
	No / Item ID Description		(4) MONTANA CONSTRUCTION CORP INC.		(5) RITACCO CO		(6) INTERCOUNTY PAVING ASSOC LLC		
Alt Se	et / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTIO	<b>ON:</b> 0003	NON-PARTICI	PATING (ROADV	VAY) Cat Al	t Set:	Set: Cat Alt Member:			
0002	152004P	1.000	5,018.00000	5,018.00	4,000.00000	4,000.00	5,000.00000	5,000.00	
_	C'S AND CONTRACTO CTIVE LIABILITY NCE	PR'S DOLL							
0003	152015P	1.000	10,000.00000	10,000.00	6,000.00000	6,000.00	1.00000	1.00	
POLLU1	TION LIABILITY INSUR	RANCE DOLL							
Sect	ion Totals:			\$15,018.00		\$10,000.00		\$5,001.00	



# **Tabulation of Bids**

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

	Line No / Item ID Item Description		(4) MONTANA CONSTRUCTION CORP INC.		(5) RITACCO CO		(6) INTERCOUNTY PAVING ASSOC LLC	
Alt Set / A	It Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0004	EROSION CON	NTROL Cat Alt		t Set: Cat A		Alt Member:	
0011 1	58009M	150.000	12.00000	1,800.00	10.00000	1,500.00	18.40000	2,760.00
HEAVY DUT ORANGE	Y SILT FENCE,	LF						
0012 1	58030M	16.000	435.00000	6,960.00	100.00000	1,600.00	75.00000	1,200.00
INLET FILTE	ER TYPE 2, 2' X 4'	U						
0013 1	58060M	45.000	48.50000	2,182.50	5.00000	225.00	40.00000	1,800.00
CONSTRUC	TION DRIVEWAY	Т						
0014 1	58063P	(1)	1,806.00000	1,806.00	5,000.00000	5,000.00	1,000.00000	1,000.00
CONCRETE	WASHOUT SYST	EM LS						
0015 1	58072M	2.000	2,509.00000	5,018.00	500.00000	1,000.00	1.00000	2.00
OIL ONLY E	MERGENCY SPIL	L KIT, U						



Tabulation of Bids

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Line No / Item ID Item Description		(4) MONTANA CONSTRUCTION CORP INC.		(5) RITACCO CONSTRUCTION INC		(6) INTERCOUNTY PAVING ASSOC LLC	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0004	EROSION CON	NTROL	Cat Al	t Set: Cat Al		alt Member:	
0016 158084M	2.000	376.00000	752.00	10.00000	20.00	1,100.00000	2,200.00
EROSION CONTROL SEDIM REMOVAL	MENT CY						
0063 806018P	90.000	1.00000	90.00	2.00000	180.00	1.00000	90.00
FERTILIZING AND SEEDING F	G, TYPE SY						
Section Totals:			\$18,608.50		\$9,525.00		\$9,052.00



# **Tabulation of Bids**

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Line No / Iter Item Descrip			(4) MON CONSTRUCTIO		(5) RITACCO C	ONSTRUCTION IC		UNTY PAVING OC LLC
Alt Set / Alt I	Member Quant	ity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0	0005 G	ENERAL LAN	NDSCAPE	Cat Al	t Set:	Cat A	It Member:	
0058 8020	)24M	2.000	700.00000	1,400.00	525.00000	1,050.00	885.00000	1,770.00
TREE REMOVA	AL, OVER 12" TO 18"	U						
0059 8020	)27M	5.000	1,500.00000	7,500.00	775.00000	3,875.00	1,765.00000	8,825.00
TREE REMOVA	AL, OVER 18" TO 24"	U						
0060 8040	006P	981.000	5.00000	4,905.00	3.00000	2,943.00	2.50000	2,452.50
TOPSOILING,	4" THICK	SY						
0061 8040	015P	109.000	32.00000	3,488.00	25.00000	2,725.00	35.00000	3,815.00
BORROW TOP	SOIL	CY						
0062 8060	003P	981.000	1.00000	981.00	1.00000	981.00	1.10000	1,079.10
FERTILIZING A A	ND SEEDING, TYPE	SY						

**Tabulation of Bids** 

Counties: UNION

Letting Date: February 06, 2014 District(s): N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Contract ID: 13155

Contract Description: ROUTE 22, EB, AUXILIARY LANE BETWEEN U-TURNS H AND G

Line No / Item ID Item Description		(4) MONTANA CONSTRUCTION CORP INC.		(5) RITACCO CONSTRUCTION INC		(6) INTERCOUNTY PAVING ASSOC LLC	
Alt Set / Alt Mem	ber Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0005 GENERAL LA		NDSCAPE Cat Alt		t Set:	Cat A	It Member:	
0064 809003N	981.000	1.00000	981.00	1.00000	981.00	1.10000	1,079.10
STRAW MULCHING	SY SY						
Section Totals:			\$19,255.00		\$12,555.00		\$19,020.70
	Contract Totals		\$888,011.40		\$963,000.00		\$973,277.60
Cost Plus Time Totals			\$888,011.40		\$963,000.00		973,277.60

() indicates item is bid as Lump Sum



# **Tabulation of Bids**

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Line No / Item ID Item Description		(7) POWER CONCRETE CO INC		(8) TOP LINE CONSTRUCTION CORP		(9) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0001 151006M	1.000	10,000.00000	10,000.00	7,189.61000	7,189.61	12,000.00000	12,000.00
PERFORMANCE BOND PAYMENT BOND	AND DOLL						
0004 153009P	(1)	7,500.00000	7,500.00	1,000.00000	1,000.00	5,000.00000	5,000.00
BAR CHART PROGRESS SCHEDULE AND UPDAT							
0005 153012P	300.000	1.00000	300.00	1.00000	300.00	50.00000	15,000.00
TRAINEES	HOUR						
0006 154003P	(1)	72,800.00000	72,800.00	100,000.00000	100,000.00	125,000.00000	125,000.00
MOBILIZATION	LS						
0009 157004M	1.000	7,500.00000	7,500.00	4,000.00000	4,000.00	10,000.00000	10,000.00
CONSTRUCTION LAYOU	JT DOLL						



# **Tabulation of Bids**

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

	Line No / Item ID Item Description		(7) POWER CONCRETE CO INC		(8) TOP LINE CONSTRUCTION CORP		(9) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>ON:</b> 0001	ROADWAY	Cat Alt Set:			Cat Alt Member:		
0010	157006M	3.000	900.00000	2,700.00	525.00000	1,575.00	500.00000	1,500.00
MONUMENT		U						
0017	159003M	25.000	10.00000	250.00	130.37000	3,259.25	50.00000	1,250.00
BREAKA	WAY BARRICADE	U						
0018	159006M	35.000	10.00000	350.00	68.74000	2,405.90	50.00000	1,750.00
DRUM		U						
0019	159012M	538.000	10.00000	5,380.00	17.91000	9,635.58	10.00000	5,380.00
CONSTR	RUCTION SIGNS	SF						
0020	159027M	2.000	2,000.00000	4,000.00	1,478.63000	2,957.26	0.01000	0.02
FLASHIN	NG ARROW BOARD, 4	l' X 8' U						



# **Tabulation of Bids**

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

	o / Item ID escription		(7) POWER CONCRETE CO INC		(8) TOP LINE CONSTRUCTION CORP		(9) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0021	159029M	2.000	4,000.00000	8,000.00	5,804.43000	11,608.86	7,500.00000	15,000.00
SIGN W/I	LE VARIABLE MES REMOTE NICATION	SSAGE U						
0022	159108M	2.000	4,000.00000	8,000.00	10,068.94000	20,137.88	7,500.00000	15,000.00
	CONTROL TRUCKED CRASH CUSHIC							
0023	159138M	2.000	230.00000	460.00	174.40000	348.80	500.00000	1,000.00
HMA PA	TCH	Т						
0024	160004M	1.000	400.00000	400.00	400.00000	400.00	400.00000	400.00
FUEL PR	RICE ADJUSTMENT	DOLL						
0025	161003P	(1)	5,000.00000	5,000.00	8,500.93000	8,500.93	15,000.00000	15,000.00
FINAL CL	LEANUP	LS						



# **Tabulation of Bids**

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

	Line No / Item ID Item Description		(7) POWER CONCRETE CO INC		(8) TOP LINE CONSTRUCTION CORP		(9) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>DN</b> : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0026	201003P	(1)	15,000.00000	15,000.00	109,100.00000	109,100.00	20,000.00000	20,000.00
CLEARII	NG SITE	LS						
0027	202006M	7.000	150.00000	1,050.00	422.39000	2,956.73	500.00000	3,500.00
EXCAVA	ATION, TEST PIT	CY						
0028	202009P	1,584.000	55.00000	87,120.00	53.79000	85,203.36	75.00000	118,800.00
EXCAVA	ATION, UNCLASSIFIE	D CY						
0029	202021P	2,184.000	10.00000	21,840.00	17.73000	38,722.32	25.00000	54,600.00
REMOV	AL OF PAVEMENT	SY						
0030	302045P	2,700.000	20.00000	54,000.00	22.27000	60,129.00	12.00000	32,400.00
_	GRADED AGGREGAT OURSE, 10" THICK	TE SY						



# **Tabulation of Bids**

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Line No / Item ID Item Description		(7) POWER CONCRETE CO INC		(8) TOP LINE CONSTRUCTION CORP		(9) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0031 401009P	2,068.000	8.00000	16,544.00	7.54000	15,592.72	11.00000	22,748.00
HMA MILLING, 3" OR LESS	SY						
0032 401030M	215.000	6.00000	1,290.00	0.01000	2.15	0.01000	2.15
TACK COAT	GAL						
0033 401036M	590.000	0.10000	59.00	6.29000	3,711.10	0.01000	5.90
PRIME COAT	GAL						
0034 401060M	539.000	125.00000	67,375.00	113.02000	60,917.78	150.00000	80,850.00
HOT MIX ASPHALT 12.5 M 7 SURFACE COURSE	76 T						
0035 401096M	891.000	110.00000	98,010.00	97.77000	87,113.07	125.00000	111,375.00
HOT MIX ASPHALT 19 M 64 COURSE	BASE T						



**Tabulation of Bids** 

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Line No / Item ID Item Description		(7) POWER CONCRETE CO INC		(8) TOP LINE CONSTRUCTION CORP		(9) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0036 601122P	434.000	75.00000	32,550.00	91.93000	39,897.62	90.00000	39,060.00
15" REINFORCED CONCRE PIPE	ETE LF						
0037 601124P	166.000	80.00000	13,280.00	93.56000	15,530.96	95.00000	15,770.00
18" REINFORCED CONCRE PIPE	ETE LF						
0038 601194P	234.000	80.00000	18,720.00	95.63000	22,377.42	90.00000	21,060.00
15" REINFORCED CONCRE PIPE, CLASS V	ETE LF						
0039 601249P	12.000	60.00000	720.00	76.08000	912.96	75.00000	900.00
6" HIGH DENSITY POLYETI PIPE	HYLENE LF						



# **Tabulation of Bids**

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

	Line No / Item ID Item Description		(7) POWER CONCRETE CO INC		(8) TOP LINE CONSTRUCTION CORP		(9) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>DN</b> : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0040	601679M	80.000	130.00000	10,400.00	100.30000	8,024.00	100.00000	8,000.00
8" DUCT	TLE IRON PIPE	LF						
0041	602099M	2.000	400.00000	800.00	336.85000	673.70	500.00000	1,000.00
RESET I	EXISTING CASTING	U						
0042	602220M	144.000	295.00000	42,480.00	240.95000	34,696.80	300.00000	43,200.00
TRENCH	H DRAIN	LF						
0043	602290M	13.000	8,300.00000	107,900.00	9,610.94000	124,942.22	15,000.00000	195,000.00
INLET, N	NON-STANDARD OFF	SET U						
0044	606012P	63.000	108.00000	6,804.00	84.80000	5,342.40	125.00000	7,875.00
CONCR	ETE SIDEWALK, 4" T	HICK SY						



# **Tabulation of Bids**

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Line No / Item ID Item Description		(7) POWER CONCRETE CO INC		(8) TOP LINE CONSTRUCTION CORP		(9) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0045 606039P	525.000	110.00000	57,750.00	95.12000	49,938.00	60.00000	31,500.00
HOT MIX ASPHALT DRIVEW THICK	'AY, 6" SY						
0046 606057P	27.000	135.00000	3,645.00	98.72000	2,665.44	150.00000	4,050.00
CONCRETE DRIVEWAY, REINFORCED, 6" THICK	SY						
0047 606084P	4.000	250.00000	1,000.00	142.22000	568.88	300.00000	1,200.00
DETECTABLE WARNING SU	RFACE SY						
0048 607018P	2,024.000	38.00000	76,912.00	29.83000	60,375.92	65.00000	131,560.00
9" X 16" CONCRETE VERTIC CURB	CAL LF						
0049 610003M	715.000	1.25000	893.75	1.31000	936.65	1.50000	1,072.50
TRAFFIC STRIPES, 4"	LF						



# Tabulation of Bids

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

	Line No / Item ID Item Description		(7) POWER CONCRETE CO INC		(8) TOP LINE CONSTRUCTION CORP		(9) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>DN</b> : 0001	ROADWAY		Cat Alt	t Set:	Cat A	It Member:	
0050	610007M	475.000	2.50000	1,187.50	2.63000	1,249.25	3.00000	1,425.00
TRAFFIC	C STRIPES, 8"	LF						
0051	610011M	1,025.000	2.00000	2,050.00	1.84000	1,886.00	2.00000	2,050.00
TRAFFIC	C MARKINGS, LINES	LF						
0052	610012M	80.000	30.00000	2,400.00	52.57000	4,205.60	60.00000	4,800.00
RPM, MO LENS	ONO-DIRECTIONAL, V	WHITE U						
0053	610024M	40.000	40.00000	1,600.00	0.01000	0.40	5.00000	200.00
REMOV	AL OF RPM	U						
0054	610036M	2,000.000	0.75000	1,500.00	0.74000	1,480.00	1.00000	2,000.00
REMOV	AL OF TRAFFIC STRI	PES LF						



Tabulation of Bids

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

	act bescription.	110012 22, 22, 710	, , , , , , , , , , , , , , , , , , , ,	21112211010				
	Line No / Item ID Item Description		(7) POWER CONCRETE CO INC		(8) TOP LINE CONSTRUCTION CORP		(9) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>DN</b> : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0055	610039M	220.000	3.00000	660.00	2.10000	462.00	2.50000	550.00
REMOV	AL OF TRAFFIC MAR	KINGS SF						
0056	612003P	20.000	45.00000	900.00	88.06000	1,761.20	50.00000	1,000.00
REGULA SIGN	ATORY AND WARNIN	IG SF						
0057	612004P	(1)	17,900.00000	17,900.00	12,827.42000	12,827.42	16,000.00000	16,000.00
	TRIAN CROSSING SIG ARNING BEACON	GN LS						
Secti	ion Totals:			\$896,980.25		\$1,027,522.14		\$1,196,833.57



Tabulation of Bids Page: 43

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Line No / Item ID Item Description		(7) POWER CONCRETE CO INC		(8) TOP LINE CONSTRUCTION CORP		(9) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO		
Alt Se	et / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>DN</b> : 0002	CONSTRUCTI	ON ENGINEERIN	G Cat Al	t Set:	Cat A	It Member:	
0007	155006M	1.000	20,000.00000	20,000.00	10,000.00000	10,000.00	35,000.00000	35,000.00
FIELD O	FFICE TYPE B SET U	JP U						
8000	155024M	10.000	2,500.00000	25,000.00	1,710.56000	17,105.60	2,500.00000	25,000.00
FIELD O	PFFICE TYPE B NANCE	MO						
Secti	ion Totals:			\$45,000.00		\$27,105.60		\$60,000.00



**Tabulation of Bids** 

Counties: UNION Contract ID: 13155

Letting Date: February 06, 2014 District(s): N1

Call Order: 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Contract Description: ROUTE 22, EB, AUXILIARY LANE BETWEEN U-TURNS H AND G

Line No / Item ID Item Description		(7) POWER CONCRETE CO INC		(8) TOP LINE CONSTRUCTION CORP		(9) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	
Alt Set / Alt Member	Quantity and Units	Unit Price E	xt Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0003	NON-PARTICII	PATING (ROADWA)	Y) Cat Alt	t Set:	Cat A	It Member:	
0002 152004P	1.000	2,000.00000	2,000.00	2,882.71000	2,882.71	2,000.00000	2,000.00
OWNER'S AND CONTRACT PROTECTIVE LIABILITY INSURANCE	OR'S DOLL						
0003 152015P	1.000	1,000.00000	1,000.00	8,000.00000	8,000.00	14,000.00000	14,000.00
POLLUTION LIABILITY INSU	JRANCE DOLL						
Section Totals:			\$3,000.00		\$10.882.71		\$16,000.00

\$3,000.00 \$10,882.71 \$16,000.00



Tabulation of Bids

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Line No / Item ID Item Description		(7) POWER CONCRETE CO INC		(8) TOP LINE CONSTRUCTION CORP		(9) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO		
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>ON:</b> 0004	EROSION CO	NTROL	Cat Al	t Set:	Cat A	It Member:	
0011	158009M	150.000	8.00000	1,200.00	5.04000	756.00	5.00000	750.00
HEAVY I	OUTY SILT FENCE,	LF						
0012	158030M	16.000	230.00000	3,680.00	235.29000	3,764.64	100.00000	1,600.00
INLET FI	LTER TYPE 2, 2' X 4'	U						
0013	158060M	45.000	230.00000	10,350.00	27.26000	1,226.70	50.00000	2,250.00
CONSTR	RUCTION DRIVEWAY	Т						
0014	158063P	(1)	2,700.00000	2,700.00	3,881.33000	3,881.33	3,000.00000	3,000.00
CONCRE	ETE WASHOUT SYST	TEM LS						
0015	158072M	2.000	750.00000	1,500.00	1,303.65000	2,607.30	3,000.00000	6,000.00
OIL ONL TYPE 1	Y EMERGENCY SPIL	L KIT, U						



Tabulation of Bids Page: 46

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Line No / Item ID Item Description			(7) POWER CONCRETE CO INC		(8) TOP LINE CONSTRUCTION CORP		(9) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	
Alt Set / Alt Memb	er Quantity and Unit	s Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0004	EROSION C	ONTROL	Cat Al	t Set:	Cat A	It Member:		
0016 158084M	2.000	60.00000	120.00	20.93000	41.86	150.00000	300.00	
EROSION CONTRO	L SEDIMENT CY							
0063 806018P	90.000	4.00000	360.00	0.24000	21.60	1.00000	90.00	
FERTILIZING AND S	EEDING, TYPE SY							
Section Totals:			\$19,910.00		\$12,299.43		\$13,990.00	



# **Tabulation of Bids**

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Line No / Item ID Item Description		(7) POWER CONCRETE CO INC		(8) TOP LINE CONSTRUCTION CORP		(9) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0005	GENERAL LAN	NDSCAPE	Cat Al	t Set:	Cat A	It Member:	
0058 802024M	2.000	600.00000	1,200.00	315.43000	630.86	2,000.00000	4,000.00
TREE REMOVAL, OVER 1 DIAMETER	2" TO 18" U						
0059 802027M	5.000	900.00000	4,500.00	683.43000	3,417.15	3,000.00000	15,000.00
TREE REMOVAL, OVER 1 DIAMETER	8" TO 24" U						
0060 804006P	981.000	4.00000	3,924.00	16.10000	15,794.10	5.00000	4,905.00
TOPSOILING, 4" THICK	SY						
0061 804015P	109.000	30.00000	3,270.00	41.46000	4,519.14	50.00000	5,450.00
BORROW TOPSOIL	CY						
0062 806003P	981.000	1.00000	981.00	0.24000	235.44	1.00000	981.00
FERTILIZING AND SEEDII A	NG, TYPE SY						

**Tabulation of Bids** 

**Page:** 48

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Line No / Item ID Item Description			(7) POWER CONCRETE CO INC		(8) TOP LINE CONSTRUCTION CORP		(9) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	
Alt Set / Alt N	Member Qu	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0005 GENERAL LA		NDSCAPE Cat Alt		t Set: Cat Al		Alt Member:		
0064 8090	003M	981.000	1.00000	981.00	0.24000	235.44	1.00000	981.00
STRAW MULCH	HING	SY						
Section Total	als:			\$14,856.00		\$24,832.13		\$31,317.00
	Contra	ct Totals		\$979,746.25		\$1,102,642.01		\$1,318,140.57
Cost Plus Time Totals			\$979,746.25		\$1,102,642.01		1,318,140.57	

<sup>()</sup> indicates item is bid as Lump Sum



Tabulation of Bids

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Line No / Item ID Item Description		(10) IEW CONSTR GP, INC		(11) GREEN CONSTRUCTION INC.		(12) KYLE CONTI CONSTRUCTION LLC		
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	ROADWAY		Cat Alt	t Set:	Cat A	It Member:	
0001	151006M	1.000	10,226.49000	10,226.49	9,000.00000	9,000.00	27,000.00000	27,000.00
PERFOR PAYMEN	MANCE BOND AND T BOND	DOLL						
0004	153009P	(1)	0.01000	0.01	7,500.00000	7,500.00	12,000.00000	12,000.00
_	ART PROGRESS LE AND UPDATES	LS						
0005	153012P	300.000	0.01000	3.00	5.00000	1,500.00	1.00000	300.00
TRAINEE	S	HOUR						
0006	154003P	(1)	456,000.00000	456,000.00	458,609.32000	458,609.32	550,000.00000	550,000.00
MOBILIZA	ATION	LS						
0009	157004M	1.000	43,437.24000	43,437.24	25,000.00000	25,000.00	61,000.00000	61,000.00
CONSTR	UCTION LAYOUT	DOLL						



## **Tabulation of Bids**

Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Contract ID: 13155

Line No / Item ID Item Description		(10) IEW CON	(10) IEW CONSTR GP, INC		(11) GREEN CONSTRUCTION INC.		LE CONTI ICTION LLC	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>ON</b> : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0010	157006M	3.000	1,200.08000	3,600.24	750.00000	2,250.00	750.00000	2,250.00
MONUM	ENT	U						
0017	159003M	25.000	109.79000	2,744.75	50.00000	1,250.00	115.00000	2,875.00
BREAKA	WAY BARRICADE	U						
0018	159006M	35.000	63.85000	2,234.75	50.00000	1,750.00	85.00000	2,975.00
DRUM		U						
0019	159012M	538.000	12.27000	6,601.26	10.00000	5,380.00	45.00000	24,210.00
CONSTR	RUCTION SIGNS	SF						
0020	159027M	2.000	596.71000	1,193.42	0.01000	0.02	1,800.00000	3,600.00
FLASHIN	NG ARROW BOARD,	4' X 8' U						



## **Tabulation of Bids**

Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Contract ID: 13155

Line No / Item ID Item Description		(10) IEW CON	STR GP, INC	(11) GREEN CO			LE CONTI
Alt Set / Alt Member Quantity	and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROA	ADWAY		Cat Al	t Set:	Cat A	It Member:	
0021 159029M	2.000	5,967.08000	11,934.16	2,500.00000	5,000.00	21,000.00000	42,000.00
PORTABLE VARIABLE MESSAGE SIGN W/REMOTE COMMUNICATION	U						
0022 159108M	2.000	0.01000	0.02	5,000.00000	10,000.00	36,000.00000	72,000.00
TRAFFIC CONTROL TRUCK WITH MOUNTED CRASH CUSHION	U						
0023 159138M	2.000	875.47000	1,750.94	0.01000	0.02	175.00000	350.00
HMA PATCH	Т						
0024 160004M	1.000	400.00000	400.00	400.00000	400.00	400.00000	400.00
FUEL PRICE ADJUSTMENT	DOLL						
0025 161003P	(1)	0.01000	0.01	12,000.00000	12,000.00	9,500.00000	9,500.00
FINAL CLEANUP	LS						



## **Tabulation of Bids**

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

	lo / Item ID Description		(10) IEW CON	STR GP, INC	(11) GREEN CO			LE CONTI ICTION LLC
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>ON:</b> 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0026	201003P	(1)	20,000.00000	20,000.00	250,000.00000	250,000.00	20,000.00000	20,000.00
CLEARIN	NG SITE	LS						
0027	202006M	7.000	462.25000	3,235.75	200.00000	1,400.00	350.00000	2,450.00
EXCAVA	TION, TEST PIT	CY						
0028	202009P	1,584.000	61.61000	97,590.24	27.00000	42,768.00	75.00000	118,800.00
EXCAVA	TION, UNCLASSIFIE	D CY						
0029	202021P	2,184.000	24.54000	53,595.36	12.00000	26,208.00	20.00000	43,680.00
REMOVA	AL OF PAVEMENT	SY						
0030	302045P	2,700.000	15.63000	42,201.00	10.00000	27,000.00	22.00000	59,400.00
_	GRADED AGGREGAT DURSE, 10" THICK	TE SY						



# **Tabulation of Bids**

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Item Description	ISTRUCTION LLC
Alt Set / Alt Member Quantity and Units Unit Price Ext Amount Unit Price Ext Amount Unit F	ice Ext Amount
SECTION: 0001 ROADWAY Cat Alt Set: Cat Alt Memb	r:
0031 401009P 2,068.000 8.09000 16,730.12 5.00000 10,340.00 1	00000 24,816.00
HMA MILLING, 3" OR LESS SY	
0032 401030M 215.000 3.35000 720.25 0.01000 2.15	00000 1,075.00
TACK COAT GAL	
0033 401036M 590.000 0.01000 5.90 0.01000 5.90	00000 2,360.00
PRIME COAT GAL	
0034 401060M 539.000 142.76000 76,947.64 95.00000 51,205.00 14	00000 78,155.00
HOT MIX ASPHALT 12.5 M 76 T SURFACE COURSE	
0035 401096M 891.000 111.53000 99,373.23 95.00000 84,645.00 13	00000 120,285.00
HOT MIX ASPHALT 19 M 64 BASE T COURSE	



# **Tabulation of Bids**

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Line No / Item ID Item Description		(10) IEW CON	STR GP, INC	(11) GREEN CO			LE CONTI ICTION LLC
Alt Set / Alt Member Quant	tity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0036 601122P	434.000	69.16000	30,015.44	85.00000	36,890.00	145.00000	62,930.00
15" REINFORCED CONCRETE PIPE	LF						
0037 601124P	166.000	89.58000	14,870.28	95.00000	15,770.00	160.00000	26,560.00
18" REINFORCED CONCRETE PIPE	LF						
0038 601194P	234.000	87.12000	20,386.08	105.00000	24,570.00	159.00000	37,206.00
15" REINFORCED CONCRETE PIPE, CLASS V	LF						
0039 601249P	12.000	347.33000	4,167.96	45.00000	540.00	195.00000	2,340.00
6" HIGH DENSITY POLYETHYLENE PIPE	LF						
0040 601679M	80.000	284.71000	22,776.80	110.00000	8,800.00	345.00000	27,600.00
8" DUCTILE IRON PIPE	LF						



# **Tabulation of Bids**

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Line No / Item ID Item Description		(10) IEW CONSTR GP, INC		(11) GREEN CONSTRUCTION INC.		(12) KYLE CONTI CONSTRUCTION LLC		
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>ON:</b> 0001	ROADWAY		Cat Alt	t Set:	Cat A	It Member:	
0041	602099M	2.000	1,354.55000	2,709.10	650.00000	1,300.00	1,350.00000	2,700.00
RESET E	EXISTING CASTING	U						
0042	602220M	144.000	318.84000	45,912.96	400.00000	57,600.00	415.00000	59,760.00
TRENCH	H DRAIN	LF						
0043	602290M	13.000	10,845.26000	140,988.38	7,500.00000	97,500.00	8,600.00000	111,800.00
INLET, N	ION-STANDARD OFF	SET U						
0044	606012P	63.000	160.11000	10,086.93	100.00000	6,300.00	80.00000	5,040.00
CONCR	ETE SIDEWALK, 4" TH	HICK SY						
0045	606039P	525.000	83.65000	43,916.25	60.00000	31,500.00	85.00000	44,625.00
HOT MIX	( ASPHALT DRIVEWA	Y, 6" SY						



## **Tabulation of Bids**

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

	o / Item ID escription		(10) IEW CON	STR GP, INC	(11) GREEN CO			LE CONTI
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0046	606057P	27.000	191.37000	5,166.99	150.00000	4,050.00	95.00000	2,565.00
	ETE DRIVEWAY, RCED, 6" THICK	SY						
0047	606084P	4.000	492.45000	1,969.80	150.00000	600.00	250.00000	1,000.00
DETECT	ABLE WARNING SU	RFACE SY						
0048	607018P	2,024.000	30.73000	62,197.52	25.00000	50,600.00	45.00000	91,080.00
9" X 16" ( CURB	CONCRETE VERTICA	AL LF						
0049	610003M	715.000	1.39000	993.85	1.30000	929.50	1.00000	715.00
TRAFFIC	STRIPES, 4"	LF						
0050	610007M	475.000	2.79000	1,325.25	2.75000	1,306.25	1.00000	475.00
TRAFFIC	STRIPES, 8"	LF						



# **Tabulation of Bids**

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Line No / Item ID Item Description		(10) IEW CONSTR GP, INC		(11) GREEN CONSTRUCTION INC.		(12) KYLE CONTI CONSTRUCTION LLC		
Alt Set / A	Alt Member Qu	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY			Cat Alt Set:		Cat Alt Member:			
0051 6	10011M	1,025.000	2.12000	2,173.00	1.75000	1,793.75	3.00000	3,075.00
TRAFFIC MA	ARKINGS, LINES	LF						
0052 6	10012M	80.000	27.33000	2,186.40	25.00000	2,000.00	52.00000	4,160.00
RPM, MONO	D-DIRECTIONAL, WH	IITE U						
0053 6	10024M	40.000	52.18000	2,087.20	1.00000	40.00	30.00000	1,200.00
REMOVAL (	OF RPM	U						
0054 6	10036M	2,000.000	0.84000	1,680.00	0.60000	1,200.00	1.00000	2,000.00
REMOVAL O	OF TRAFFIC STRIPE	S LF						
0055 6	10039M	220.000	2.79000	613.80	2.20000	484.00	6.00000	1,320.00
REMOVAL (	OF TRAFFIC MARKIN	IGS SF						



Tabulation of Bids

Counties: UNION

Letting Date: February 06, 2014 District(s): N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Contract ID: 13155

Line No / Item ID Item Description		(10) IEW CONSTR GP, INC		(11) GREEN CONSTRUCTION INC.		(12) KYLE CONTI CONSTRUCTION LLC	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0056 612003P	20.000	39.04000	780.80	27.00000	540.00	45.00000	900.00
REGULATORY AND WARNII SIGN	NG SF						
0057 612004P	(1)	18,960.79000	18,960.79	15,000.00000	15,000.00	4,500.00000	4,500.00
PEDESTRIAN CROSSING SI WITH WARNING BEACON	IGN LS						
Section Totals:			\$1,386,491.36		\$1,392,526.91		\$1,775,032.00



Tabulation of Bids

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Contract Description: NOOTE 22, LB, AUXILIANT LANE BETWEEN 0-TOKNSTIAND G									
Line No / Item ID Item Description		(10) IEW CONST	(10) IEW CONSTR GP, INC		NSTRUCTION C.	` ,	LE CONTI ICTION LLC		
Alt Set /	Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION:	: 0002	CONSTRUCTI	ON ENGINEERING	Cat Al	Set:	Cat A	It Member:		
0007	155006M	1.000	19,944.68000	19,944.68	25,000.00000	25,000.00	45,000.00000	45,000.00	
FIELD OFF	ICE TYPE B SET I	UP U							
8000	155024M	10.000	2,007.61000	20,076.10	3,750.00000	37,500.00	3,800.00000	38,000.00	
FIELD OFF MAINTENA	ICE TYPE B NCE	MO							
Section	Totals:			\$40,020.78		\$62,500.00		\$83,000.00	



**Tabulation of Bids** 

of Bids Page: 60

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Line No / Item ID Item Description		(10) IEW CON	(10) IEW CONSTR GP, INC		(11) GREEN CONSTRUCTION INC.		LE CONTI JCTION LLC
Alt Set / Alt Membe	er Quantity and Units	s Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0003	NON-PARTIO	CIPATING (ROAD)	WAY) Cat Al	t Set:	Cat A	It Member:	
0002 152004P  OWNER'S AND CONT PROTECTIVE LIABILI INSURANCE		2,386.83000	2,386.83	0.01000	0.01	3,300.00000	3,300.00
0003 152015P POLLUTION LIABILIT	1.000 Y INSURANCE DOLL	0.01000	0.01	0.01000	0.01	6,700.00000	6,700.00
Section Totals:			\$2,386.84		\$0.02		\$10,000.00



# **Tabulation of Bids**

Counties: UNION

Letting Date: February 06, 2014 District(s): N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Contract ID: 13155

Line No / Item ID Item Description		(10) IEW CON	(10) IEW CONSTR GP, INC		(11) GREEN CONSTRUCTION INC.		(12) KYLE CONTI CONSTRUCTION LLC	
Alt Set / A	It Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0004	EROSION CON	NTROL	Cat Al	t Set:	Cat A	It Member:	
0011 1	58009M	150.000	8.83000	1,324.50	10.00000	1,500.00	8.00000	1,200.00
HEAVY DUT ORANGE	Y SILT FENCE,	LF						
0012 1	58030M	16.000	449.20000	7,187.20	250.00000	4,000.00	245.00000	3,920.00
INLET FILTE	ER TYPE 2, 2' X 4'	U						
0013 1	58060M	45.000	54.63000	2,458.35	0.01000	0.45	55.00000	2,475.00
CONSTRUC	TION DRIVEWAY	Т						
0014 15	58063P	(1)	4,653.24000	4,653.24	1,500.00000	1,500.00	2,300.00000	2,300.00
CONCRETE	WASHOUT SYST	EM LS						
0015 1	58072M	2.000	1,226.88000	2,453.76	0.01000	0.02	1,400.00000	2,800.00
OIL ONLY EI TYPE 1	MERGENCY SPIL	L KIT, U						



**Tabulation of Bids** 

Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Contract ID: 13155

Line No / Item ID Item Description		(10) IEW CON	STR GP, INC (11) GREEN CONSTRUCTION INC.			(12) KYLE CONTI CONSTRUCTION LLC	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0004	EROSION COI	NTROL	Cat Al	t Set:	Cat A	It Member:	
0016 158084M	2.000	246.32000	492.64	0.01000	0.02	145.00000	290.00
EROSION CONTROL SEDII REMOVAL	MENT CY						
0063 806018P	90.000	1.12000	100.80	5.00000	450.00	2.00000	180.00
FERTILIZING AND SEEDING F	G, TYPE SY						
Section Totals:			\$18,670.49		\$7,450.49		\$13,165.00



# **Tabulation of Bids**

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

	o / Item ID escription		(10) IEW CON	STR GP, INC	(11) GREEN CO			LE CONTI
Alt Set	t / Alt Member C	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0005	GENERAL LAN	IDSCAPE	Cat Al	t Set:	Cat A	It Member:	
0058	802024M	2.000	223.07000	446.14	1,250.00000	2,500.00	1,000.00000	2,000.00
TREE RE	EMOVAL, OVER 12" TO ER	) 18" U						
0059	802027M	5.000	223.07000	1,115.35	1,500.00000	7,500.00	3,200.00000	16,000.00
TREE RE	EMOVAL, OVER 18" TO ER	) 24" U						
0060	804006P	981.000	5.58000	5,473.98	5.00000	4,905.00	10.00000	9,810.00
TOPSOIL	LING, 4" THICK	SY						
0061	804015P	109.000	55.77000	6,078.93	50.00000	5,450.00	45.00000	4,905.00
BORROV	W TOPSOIL	CY						
0062	806003P	981.000	1.12000	1,098.72	0.50000	490.50	2.00000	1,962.00
FERTILIZ A	ZING AND SEEDING, T	YPE SY						

**Tabulation of Bids** 

**Page:** 64

Contract ID: 13155 Counties: UNION

**Letting Date:** February 06, 2014 **District(s):** N1

**Call Order:** 155 **Project(s):** HSP-0040(185)

Contract Time: 11/14/14 COMPLETION DATE

Line No / Item ID Item Description		(10) IEW CON	(10) = 11 00110111 01 , 1110   ( )		ONSTRUCTION C.	(12) KYLE CONTI CONSTRUCTION LLC	
Alt Set / Alt Memi	per Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0005 GENERAL LAN		NDSCAPE Cat Alt Set:		Cat Alt Member:			
0064 809003M	981.000	1.12000	1,098.72	0.50000	490.50	2.00000	1,962.00
STRAW MULCHING	SY						
Section Totals:			\$15,311.84		\$21,336.00		\$36,639.00
Contract Totals			\$1,462,881.31		\$1,483,813.42		\$1,917,836.00
Cost Plus Time Totals		\$1,462,881.31		\$1,483,813.42			1,917,836.00

<sup>()</sup> indicates item is bid as Lump Sum

1

Page:

**Vendor Ranking** 

13155

HSP-0040(185)

Call Order: 155

Contract ID:

Counties: UNION

Letting Date: February 06, 2014 10:00 AM

District(s): N1

Contract Time: 11/14/14 COMPLETION DATE

Rank	Vendor ID/Nam	e	Total Bid	Percent Of Low Bid
1	L9025	LUCAS CONSTRUCTION GROUP, INC	\$797,245.40	100.00%
2	L9020	LUCAS BROTHERS, INC	\$818,367.70	102.65%
3	U5944	UNION PAVING & CONSTR CO INC	\$833,000.00	104.48%
4	M6435	MONTANA CONSTRUCTION CORP INC.	\$888,011.40	111.38%
5	R4689	RITACCO CONSTRUCTION INC	\$963,000.00	120.79%
6	15980	INTERCOUNTY PAVING ASSOC LLC	\$973,277.60	122.08%
7	P6885	POWER CONCRETE CO INC	\$979,746.25	122.89%
8	T6510	TOP LINE CONSTRUCTION CORP	\$1,102,642.01	138.31%
9	D2206	JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	\$1,318,140.57	165.34%
10	12943	IEW CONSTR GP, INC	\$1,462,881.31	183.49%
11	G7305	GREEN CONSTRUCTION INC.	\$1,483,813.42	186.12%
12	K8713	KYLE CONTI CONSTRUCTION LLC	\$1,917,836.00	240.56%
	B5015	BLACK ROCK ENTERPRISES, LLC	Irregular	



Vendor Ranking Page: 2

Call Order: 155 Contract ID: 13155 Counties: UNION

Letting Date: February 06, 2014 10:00 AM District(s): N1

Contract Time: 11/14/14 COMPLETION DATE

Contract Description: ROUTE 22, EB, AUXILIARY LANE BETWEEN U-TURNS H AND G Project(s): HSP-0040(185)

Rank Vendor ID/Name Total Bid Percent Of Low Bid

P2769 PERSISTENT CONSTRUCTION INC Irregular

I CERTIFY THAT THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

SIGNED,